Dihybrid Genetics Problems
Instructions:  Answer the following genetics problems using 4 steps.  (Assign symbols, show the genotypes of the parents, make the Punnett square, show and show the phenotypes of the offspring.)
1.  In humans, free earlobes are dominant to attached earlobes and pigmentation is dominant to albinism (lack of pigmentation).  Cross a man and a woman who are heterozygous for both traits.

2.  In fruit flies, long wings are dominant to vestigial wings (a short, crinkled wing) and red eyes are dominant to sepia eyes (a dark purplish brownish color).  Cross a fly with vestigial wings and sepia eye with a heterozygous long winged, heterozygous red eyed fly.

3.  In guinea pigs, short fur is dominant to long fur and black fur is dominant to brown fur.  Cross a heterozygous short, brown furred pig with a long furred, heterozygous black guinea pig.

4.  In pea plants, tall stems are dominant to dwarf stems and round seeds are dominant to wrinkled seeds.   Cross a heterozygous tall stemmed, heterozygous round seeded plant with a dwarf plant that is heterozygous for round seeds.    
